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QUESTION 1

What is the process in EWM that allows you to trigger a goods receipt from EWM? Choose the correct answer(s).
A. External inbound delivery notification

B. Expected inbound delivery

C. External inbound delivery

D. Expected goods receipt

Correct Answer: D

QUESTION 2

With integration SAP QM, Which of the following statement is true in relation to sample size? Please choose the correct
answer. Response:

A. It is not possible to use sample size.
B. A sample size is always calculated in SAP EWM and used for de-consolidation.
C. A sample size is calculated in SAP ERP and displayed as information in the work centre.

Correct Answer: A

QUESTION 3

Which of the following is a future of an inspection rule? There are 2 correct answers to this question. Response:
A. Sampling procedure

B. Action profile

C. Decision code

D. Inspection code

Correct Answer: AC

QUESTION 4

For a picking task the system must determine the storage types from which to remove the stock. How does the system
find the storage type search sequence? Please choose the correct answer.

A. The system attempts to use the defined access strategy, then it uses the combination of warehouse number, stock
removal indicator, and warehouse process type
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B. The system attempts to read the combination of warehouse number and stock removal indicator, then it uses the
combination of warehouse number, and warehouse process type

C. The system attempts to read a completely qualified entry, with all parameters and indicators, then it uses the defined
access strategy

D. The system attempts to read the combination of warehouse number, stock removal indicator, stock type and
warehouse process type, then it only uses the warehouse number

Correct Answer: C

QUESTION 5

Which process is used to relocate stock to its optimal location in the warehouse? Please choose the correct answer.
Response:

A. Slotting

B. Rearrangement
C. Direct put-away
D. Replenishment

Correct Answer: B
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